4.1.1 Angles in Standard Position (Spring 2018)-s18 April 3, 2018

Before we begin, are there any questions from last day's work?

Today's Learning Goal(s):

By the end of the class, | will be able to:

a) state the 3 primary trig ratios for an angle in standard position.

b) determineexact trig ratios given one trig ratio,
or a point on the terminal arm.
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Let Pix, ¥) represent a point on the terminal arm of 6.
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Ex. 1 The point P(3,4) lies on the terminal arm @f Determine the primary trig ratios.

(333 e xa_‘_:’: 5;,‘9:,2: 5059:—’_\-( Y.
‘(S)X"@? Sib - L( Y =_d Jab-

oS ﬁ;ﬂé’

=%
\.{
3

by
T+/6 S
=5y
r=if3y
SR NAN
>0

Crex
Ex. 2 The point P(-12, -5) lies on the terminal arm 8f Determine the primary trig ratios.
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Ex.3 Angle@ has its terminal arm in quadrant IV, angin @ = —i . Determine cos@ and tan®.
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Ex.4 Angle@ is in standard position. If tan@ = %, determine sin@ and cos B.
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